FEH3IFE NPOEAKEBTE SERTFERBR
( E31E1R18~128318)
NPOEANKETE
BB T 58 (8Bf:Mm
BIFERE INEFEFE 18R
1 URADES
| —REEE 146,002 149,000 2,998
Il ZEZBHE(ZFD 13,834,767 19,220,000 5,385,233
Il SEFESZE(ZND2) 437,406 457,000 19,5694
HHEANASETEZR (A) 14,418,175 19,826,000 5,407,825
2 ZHEOEZ
[ E
SXE 264,811 340,000 85,189
ERE 131,484 144,000 12,516
I\ Bt 386,295 484,000 97,705
Il ZEEHE(ZDD
EE S 10,092,811 10,569,000 476,189
ERE 4,988,032 5,817,000 828,968
I\ Bt 15,080,843 16,386,000 1,305,157
Il ZFESE(ZND2)
SXE 243,075 259,000 15,925
ERE 105,121 131,000 25,879
I\ BT 348,196 390,000 41,804
HEASTHE5TE%8 (B) 15,815,334 17,260,000 1,444,666
LERIE A EER (C)=(A)-(B) -1,397,159 2,566,000 3,963,159
FEMIOFERBREAMEFEREE (D) -70,000 70,000
TERIIFEETB EMEAREFYE (F) -262,502 -262,502
LEARS I =RIBIREEE (F)=(C)-(D)-(E) -1,467,159 2,303,498 3,770,657
RN BRI RELD—MRSEADIRAG) -335,000 -335,000
—REE AR LEHIEHTEH) =(F)-(6) 1,968,498 1,968,498
Bl HA B ® 28 5,484,676 4,017,517 -1,467,1569
X HR B W % 4,017,517 5,986,015 1,968,498




ERSIFEE —RBE T8
(PR3 EIR18~128318)

NPOEAKETE
BB T &8 (B

| —RREE BIEERE INFEFE 1=

1T URADER

NEREB-AZEIA
AZ=E (BA*1000H) 5,000 3,000 -2,000
EE8SFEB (T3 A%2000A) 126,000 146,000 20,000
BN=EFEE 5,000 0 -5,000
-SRI (ZEF 2 HUNAN) 2 0 -2
FUE 10,000 -10,000
BHEANASETEZE (A) 146,002 149,000 2,998

2 ZHODOEL

NBEE
VI SEESE(Nf 9z SvR: L E 139,661 140,000 439
SRINDFBIT PN N 1Y -5 76,630 80,000 3,470
-EXRFEDIFRIFZBSIE 0 20,000 20,000
KBERBERESHE 3,700 50,000 46,300
KRKEBREZIESE 35,020 50,000 14,980
EXBSTEERB) 254,811 340,000 85,189
2) B1RE
REFSH 10,000 10,000 0
FERIFE 30,000 30,000 0
REE 16,499 10,000 -6,499
TRE-RBE 0 3,000 3,000
BEE 25,802 30,000 4,198
SEHERGE 9,695 10,000 305
BFERE 12,294 10,000 -2,294
‘X & 0 0 0
-SER 0 0 0
KBS 0 0 0
R ELTAN S 0 1,000 1,000
SSILFER 3,564 5,000 1,436
IRBRF 0 0 0
LRELBOR—LN—3) 22,560 23,000 440
BIBEE 0 0 0
ZHEE 0 0 0
REE 0 0 0
FENEE 1,070 2000 930
B 0 10,000 10,000
BIBESTE%E(C) 131,484 144,000 12,516
LT HEETEZR (D)=(B)1(C) 386,295 484,000 97,705
BEAUNSZ =28 (BE)= (A)-(D ) -240,293 -335,000 -94,707




ER3IEE

ZEBE TR(EDD

(Ep31E1818~128318)
NPOEANKBTE
BB T 2B (B
Il ZEEBHE(EZED BIEERE INFEFE =
1T URADER
DEEIUN
KB BIERE 7,963,208 8,890,000 926,792
FKBRER 5,871,528 5,933,000 61,472
KBS R IRE 0 4,397,000 4,397,000
S FEIMNER (ZEF S -FEUA) 31 -31
WHAN A SETEEE (A) 13,834,767 19,220,000 5,385,233
2 ZHODOEL
NBEE
KB BIERE 3,848,202 4,277,000 428,798
FKBRER 4,385,292 4,431,000 45,708
KB R RE 1,354,018 1,355,000 982
BBl YUK 505,299 506,000 710
EXBSTE8RB) 10,092,811 10,569,000 476,189
2)BIRE
RS 184,000 184,000 0
FERIFS 2,171,359 2,500,000 328,641
REE 12,652 30,000 17,348
TRE-RIBRE 0 10,000 10,000
EEE 119,012 130,000 10,988
BiERRE 408,639 400,000 -8,639
BB 208,677 230,000 21,423
X B 940,896 1,038,000 97,104
-SER 36,864 50,000 13,136
KBS 46,181 60,000 13,819
RIEES TN S 22,400 25,000 2,600
AR AR CHER I HEER) 512,300 710,000 197,700
STILNFER 109,891 130,000 20,109
“RERR 60,884 61,000 116
LIRS EGEB (Y ILWRE) 2,176 25,000 22,824
BIBES 0 10,000 10,000
(EIEE 0 50,000 50,000
REE 0 10,000 10,000
“SRMEHE 0 0 0
REREE 78,430 81,000 2,670
‘HAB 0 0
‘NEE 30,560 33,000 2,440
B 43,211 50,000 6,789
BIBESTEE(C) 4,988,032 5,817,000 828,968
BB E5TEZR (D)= (B)+(C) 15,080,843 16,386,000 1,305,157
SR ERfIE R EE8 (E)=(A)-(D) -1,246,076 2,834,000 4,080,076




EHIFEE ZRHESETFE(ZD2)

FER3TE1/A18~128318)
NPOEAIKIETE
= T & (8Bi:M)
Il ZEFEBHE(ZD2) BIFERE INEFEETFE 18R
1 URADER
DEEINYN
SRKBEDMIFEIR VRN — 437,400 437,000 -400
KBS XITERTEI S 188 0 0 0
-SRETHENDEEMRIE 20,000 20,000
- NS (ZEUF S HULA) 6 -6
UHINASETEZB (A) 437,406 457,000 19,694
2 ZHEOZ
NBEE
SRKBEDMIFEIR VRN — 243,075 244,000 925
OKBBESTERTE NS 0 0 0
-SRBIHEANDBIMRES 0 15,000 15,000
SXEESSTEEEB) 243,075 259,000 15,925
2) 1B
RS 10,000 10,000 0
FERIFH 30,000 30,000 0
REE 0 0 0
IRBRIBE 0 3,000 3,000
BIEE 7,000 10,000 3,000
SEFERGE 19,378 20,000 622
SHERE 14,986 20,000 5,014
X B 0 0 0
-SER 0 0 0
KIENRE 5,360 10,000 4,640
FEI R 200 1,000 800
AR AR CBER. o BER) 16,200 17,000 800
STILAFER 1,997 10,000 8,003
1R 0 0 0
JLRELB (/NI 0 0
BEEE 0 0
(EIEE 0 0
RIRE 0 0
RBEZNE 0 0
RERAE 0 0
B 0 0
EBBS5IEE(C) 105,121 131,000 25,879
HHISTHHS5TEER (D)= (B)+(C) 348,196 390,000 41,804
S ERfIEREEE (B)= (A)-(D) 89,210 67,000 -22,210




